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246(D: COSS&D^WORKS ACCOUNTTNG _ rr

P..$Y'" rn) (Semester - Iy)
in t 'n :''

Time: 2% Hou /..._,:l:rl. [Mox ittark : 50
I nst ru ction s to thwah d iiae s :

I ) AII ggvstiopi'uie compulsory.

2) F{g;rs to"the right initicate fuil mark.
3) Use o&lculator is allowed- 

.: l

Ql) a) riilin tue blanks by choosing the*prope-r-hiternative given in the
bracket (any five) : _- ,', t5l
i) 

- 

is a record or,."$Bh"o*iirties and vaiues.
(Bin Card, Stores Ledgffir$ltio, Reporr. All of rhe above)

ii) Recording of worbeis"fimp"up"nt on diff.erent jobs is kno,nvn as
! +,'

(Time Booking; Time.Keeping, Job Card,

iii) Job evaluationiriesto make a systematic\

(Workers, Jobs*.Machines, Departments)

Just in Time was successfully implemenrcd bY ,"= .,. '

stores organization is uOoptq1ib"rt all rhe good,
at centrally locared at one place. +:-' .1
(Cenralize4 Cenkal stores wirh rofipfor*;,taependent Stores,Decentralized) ':1*' 

"

is the rate of cha=hge irr-'ih. l*boor force of an
organization.

(Labour Turnover Rate, Material Turnover Rate. Inventory
Turnover RaLe, sales Tumover)

rv)

r,)

ldle time card)

comparison betw:een

vi)

P,T,O.



b) Nlatch the following :

Group A

i) Time Keeping I a)

ii) Separation Method . 
.-..' b)

iii) Codificatio4*..- - c)
i .- r"!

iv) Rowan Prehuunr*p{an d.;

v) Salary, . e)

tsl
Group B

Numeric Method

Fixed Cost

Glasgow

Disc Method

Labour Turnover

.r:tt.

Q2) Write shont+jirteq.on any two of the following :

a) Mgriiyid's o.-f Qbditication
b) Ivladem riethods of Time Keeping

c) Comp$r Aided Manutacturing CAM
d) Job..flnalysis and Evaluarian .

Q3) a)

Dec. 4 Received 2,€00

The follo*.ing ransactions took Ju.. ,.tating ro Material X during
Decenrber 2022 :

Date Particular pgaritrty-(Units.1 Rate per Unit G.s.)

Ir0l

Dec. 6 Issued ,.--F ,.,"

Dec. l3 Received', :'l..

Dec. 15 Issued ::o:'

Dec. 20 Received. .

Dec. 25 Receivild'

Dec. 28 Issued

., 500

800

400

1,500

200

1200

You are required ro prepare the Store Ledger Ad*nt rrnder the FlFo
rnethod and also calculate the closiag stock. .-.. t8l

b) From the following particurars supplied by+iie"personal department of
ABC Ltd. calculare Iabour turnover ral.c, urider, Scparation Method,
Replaccmenr Merhod and FIux Method t1l
Total number of employecs ar the be,ginning oi'the year 500
Total number of employees at the eDd olthe yea: 1500
Number of employees who left duri-ngihe year 30
Number of employees who are recruiied during the year ZO

16 l42l-3 l0



r

Qa) 4 Calculate the total earnings of Mr. Raj under Time Rate, Halsey
Premium Plan & Rowan Plan with the help of following information.

.i:
:..:

Time Takeu *- 50 hours "|;', 
,:'

I8l
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